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Write the slope-intercept form of the equation of the line through the given point with the given slope.

1) through: (4, 4), slope=1 2) through: (-2, 5), slope =5
y—4 =1 0x—4) y-¢ = -sx+x)
y-4=x%x-¢ y—$= -Sx o
+ 1 +s <
y=x y= "¥x-%

3) through: (1, -3), slope=2

Y++3 = 2(x-))

Y+3 = 2x —ao

Yy =Tx -5

Write the slope-intercept form of the equation of the line through the given points.

4) through: (2, 4) and (0, -2) 5) through: (-1, 3) and {0, 1)
m= M_.-_—_i"_:_é_ M= 34t/ :";__(_I
X T b 2 ! - -0 :-I_ .
y-4=3G =) y=3x y—5=~t{(x,.+:)
Y-4 =3x—¢6
+ 4 +y Y-3= —4x -
43 +3
6) through: (-1, —4) and (0, 5) Y Hd= A w;::m"
m‘—‘——-———-Lf—_g:':j_-— -y —Y
._{ - D .-._, - -
Yy #+d= G Ccr 1) Y =axts
VYHd= dx +4

Solve each equation.

7) —156.06 =—5.1(0.9 + 5.5p) 8) 1.7(-7.4x+1.3)=90.27
=1L e = ~4 g - zC(.oS']o —i>,s-5>x+ z.2i =4906.27
+4.59 +4,59 — 22| -—2z,2l

~|s1.47 = —23’.033 —12.58x = §8.0C
—2 5.0 ,__9_8‘05, —[2.5% —1255

$j¢/=f) X="7
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Answers to Homework 11.2

1) y=x 2) y==5x~5 3) y=2x-5 4y y=3x-2
5) y=—4x—1 6) y=9x+5 7) {5.4} 8) {-7}
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